Get out your homework and have it ready to check.

Classwork - Surface Area of Pyramids

Find the lateral and tolal surface areas of each cone. Round to the nearest tenth if necessary. SHOW WORK
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7. ALGEBRA A cone has a lateral surface area of 62.8 square yards. If the slant height is 2 yards, what 1s the total

surface area of the cone? % - .
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8. Find the total surface area of the figure below. SHOW WORK
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Lateral Area and Surface Area y *'u,:h‘
Lateral Area = i + Perimeter of base - slant langih

Surface Area=B + L.A. ORS.A.= B +§FE vertex

Regular Pyramid — A pyramid with a T

base that is a regular polygon.




Examples L . ﬂ,
1) Find the Iateral area and tﬁa.?l 5U area of the regular pyramids below. SHOW WORK AND LABEL
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2) Find the lateral area and total surface area of the regular pyramids below. SHOW WORK AND LABEL
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3) Use the figure to the right to answer the following questions. The total hl!lht of the figure is 20 inches.
A) Find the height of the pyramid.
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B) Use the height of the pyramid to find the slant height, L AT 1004 |

21 L —\= |

?:L\Ei‘:ﬂ 5in. (7 & 16ib. £

e9+228 = Q1 j_ + 16in.  ~— -
=14

8 in. g in.

C) Which has a greater surface area, the prism or the pyramid? Explain your reasoning.

D) Find the total volume of the figure. SHOW WORK



